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Lattice 3 by 2

Use lattice multiplication to solve each problem.

b 523 x 30 =

s
Ve
Ve
7
s
4 /
4 7
4 7
s
7
s 7
7 s
s s

2) 422 x 39 =

s
/
7
7
s
4 7/
4 7/
4 /
7
s
s /
7 7
7 s

s
7
7
7
7
7 /
4 /
4 z
7
7
s 7
7 Ve
7 s

s
/
7
7
7
4 7
4 /
4 7/
7
7
s 7
7 s
7 s

s
7
7
s
Ve
4 7
4 e
4 7
7
7
7 7
7 Ve
7 s

[ M ath ] www.CommonCoreSheets.com

Name:
Answers
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Lattice 3 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
523 x30= 422 x 39 = 822 x 70 = L 15,690
5 2 3 4 2 2 8 2 2
1/// O/// 0/// 3 1/// 0 // 0/// 3 5/// 1/// 1/// 7 2 16’458
11,7 5,7 6(,7 9 11.7 2|,” 6|.,” 6 5(.7 6(,” 4|,” 4
//0//0//0/ //3//1//1/ //0//0//0/
/ 7 7 ,/ 4 /7 7/ // / 7 7 // 7 4
5.7 0|.” 0|~ 0]° 6.7 6. 8|, 8|° ol 0l oo | 80240
//6 //9//0 //4 /5//8 //5 //4//
Vi / 7 4 4 7 / 7 7 4 14,817
5 10,292
4) 449 x 33 = 5 166 x 62 = 6) 271 x 27 =
6. 7,317
4 4 9 1 6 6 2 7 1
l,’l,’2,’ 0//3//3// 0//1//0//
1. 21, 2,7 7|3 1. 6|, 6|, 6|8 ol al, a4l 2?7 39104
L 2 3 10 1L L s ) R .
al. 2. 21,77 ol.” 2|, 2|, 2 71,774,779\, 7 g. 10,975
/// 8 /// 1/// 7 /// 2 /// 9/// 2 /// 3 /// 1/// 7
) 24,992
10. 46,729
7 611 x 64 = 8) 439 x 25 = 9) 781 x 32 =
6 1 1 4 3 9 7 8 1 11. 15,918
3/0/0/6 0/0/1/2 2,’2,’0,’3
31,7 6/,76|,76 11.” 8|,” 6|,7 8 2.7 1|,” 4|,” 3 1 26,840
/// 2 /// 0 /// 0 // 4 /// 2 /// 1 /// 4 // 5 /// 1 /// 1 /// 0 // 2
9.7 4.7 4|,” 4 0ol.~0|.”5|,75 41,7 41,7 61,7 2
/// 1 /// O/// 4 /// 9 /// 7/// 5 /// 9 /// 9/// 2
10) 563 x 83 = 11) 758 x 21 = 12) 671 x40 =
5 6 3 7 5 8 6 7 1
4/4,’2,’8 1/1,’1,’2 2,'2,’0,’4
41,7 0|, 8|, 4 11,7 4,7 0|, 6 21,7 4,7 8|,7 4
/// 1 /// 1 /// O/// 3 /// 0 /// 0 /// O/,/ 1 /// O /// 0 /// 0/// 0
6 // 5 // 8 // 9 5 // 7 // 5 // 8 6 // O // 0 // O
7 2// 9 9 1/,’ 8 8 4/,’ 0
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